NEW COIRs,a MIG TORCH ERGON BZ 15 SPRING PINS MIG

Hi_uﬁ}i;j"_'\l

13 13a «
- 7 : 8 9 11 % SCET 14
6 1L ; T f
=1 —ﬂ e e
R -
112 (optional)

2i _ _ _
WIRE CONDUIT FOR ALUMINILM m

16

_ i 18 19 L PR e
AT ﬁ E - o
Bz15 W RUERRREE . P

|TENSION| POWERAT 60% | [ PartNo | L _ DESCRIPTION
| cLass | coz-MIX |°°°'-'"G I
! BT T {02.ER.15.3 | TORCIA COMPLETA BZ 15 mt. 3 - COMPLETE MIG TORCH BZ 15 mt. 3
i 180A-150A | amr |02ER.15.4 | TORCIA COMPLETABZ15mt.4 - COMPLETE MIG TORCH BZ 15 mt. 4
180A-150A | |02.ER155 | TORCIA COMPLETA BZ 15 mt. 5 - COMPLETE MIG TORCH BZ 15 mt. §
[ M6x25 STD | Part No . DESCRIPTION [Pack] | MEx25 [ Part No : DESCRIPTION [PACK]
1 [2ois0e | Punta M6X25 8 0,6 - Contact tp M6X25 00,6 | 100 | '1'" Sawnle | 0201.15.08AL Punta M6x25 80,8 - ContactUp M625 008 | 100 |
[ 02.01.15.08 Punta M6X25 8 0,8 - Contact tip M6X25 00,8 | 100 | 02.01.15.09AL Punta M6x25 0,9 - Contact tip M6x250 0.9 | 100
02.01.15.09 Punta M6X25 @ 0,9 - Contact tip M6X25 @ 0.9 ] 100 [ 02.01.15.10AL | Punta M6x25 81,0 - Contact tip M6x25.0 1,0 | 100 |
| 02.01.15.10 Punta M6X25 @ 1,0 - Contact tip M6X25 01,0 | 100 02.01.15.12AL Punta M6x25 1,2 - Contact tip M6x250 1,2 | 100
| 02.01.15.12 | Punta M6X25 81,2 - Contact tip M6X25 0 1,2 | 100 | | |
ITEM _ PartNo | DESCRIPTION | ORIGINAL REF.| PACK
' 2 : 02.02.15ICO  Ugello conico @ 12 STD - Adjustable conical nozzle @ 12 STD 10 |
——yT | 02.02.15ICL Ugello cilindrico - Adjustable cylindrical nozzle | 10
0 | ]) 02.02.15.10  Ugello conico 89,5 - Adjustable conical nozzle 0 9,5 | 10 |
T T Y 102.02.451P | Ugello per puntatura - Adjustable spot nozzle 10
' 3 ' 02.05.15 Diffusore a molla _ - Tip adaptor gas diffuser 10
L)) (B
4 02.05.15.01 | Molla ferma ugello gas - Spring 50
5 . [02.03.15 ' Boccolina isolante - Insulator nut for conductor tube | [0 |
' 6 | 02.06.15 Lancia terminale completa - Complete adjustable swan neck [ s
- 6a 102.06.15FLX | Lancia flessibile ad INNESTO : - Flexibile swan neck
: 02.07.15  Rivestimento isolante lancia - Conductor tube insulation
02.06.15.06 | Lancia terminale nuda - - Conductor tube without insulation
| 02.06.15.01 jDa_deTl]ﬂ mm - Nut@10x 1 mm
N 1 | 02.06.15.02 | Dado lungo @ 10 x 1 mm - Hexlong nut @ 10 x 1 mm
102.10.15  Corpo torcia PVC : e - PVC torch body
| 02.06.15.03  Anellino di centraggio ) - Bushing

@@._’

m NEW COIR S.p.A. is in no way affiliated with BINZEL" . The parts advertised for sale are not genuine BINZEL" parts, but are parts made for and by NEW COIR S.p.A.
Reference to BINZEL" machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine BINZEL" parts in place of NEW COIR S.p.A. parts.




ITEM [ Patho | DESCRIPTION ORIGINAL REF] PACK |
& g |0208ER16  [Iimpugnaturaergonomica@16mm. - Ergonomic Handle w/o screw @ 16 rnb1 IR TS
| 02.08.ER.01 _\_fi__tt_a_qeLirEp_ugnalum R LRl - Screw for ergonomic handle e,
02.08ER02 |Ghiera - Housing for handle: | = =
[558 T 02.09.A.8Z Pulsante interruttore STD _- Tngger std - | [ ]
02.09.ER Pulsante interruttore lungo | - Long Ingger [ | [ae|
02.09.ER.3 Pulsante interruttore lungo con 3 contatti - Long tngger wnh swnch 3 contect [ [
02.144ER15 | Supporto snodo anteriore ergonomico BZ15 - Joint for ergonomic handle BZ15 | | AN
e LS i - j— L
e e e e
o2 144 ER | Supporto snodo anteriore con molla - Joint with spring = '_ A 4 |
02144ERH | Supporto snod BT B T T

| 02.144.M IMuIIa - Spring

]
|
i = 102.20.15 Cavo coassiale 15 mmq - 150A - Coaal cable 15mmq - 150A - permt. | R ‘

- 102.20.15.3 Cavo assemblato mt.3 g Assemhled_cabre mt.3 g | B
| — ™ Gonns [cvsemaon -Asembedcabemta | | | |
m Eadkeracy 02.20.15.5 Cavo assemblato mt.5 - Assembled cable _m_tS _ 1 |

I [01.244. M [Fastun per interruttore  -Fastonforswitth _I : [ ]—
| | VA, ASGJP Faston maschio cilindrico b ______- Faston male _ | A [N

VA.B1820 |Hanicoi|a serraggio cavi - Sleeve T e P R

02061501 |Dado@1Oximm.  -Nut@10imm. T ST | -
| VA.RC1SE ]Ram:nrdo cavo coassiale G w fitting b _____|_|______ [ ]
30_4_:_?_3_ all ' | Guaina guldaﬂlu blu @ 0,6- 1,0 mt.3 s Wire conduit @ 0,6 - 1,0 Blue qut_s____-_____'__ sl [ _ |
02.04.74 Guaina guidafilo blu & 06- 1,0mt4 - Wire conduit @ 0,6 - 1,0 Blue mt.4 [ _[ S

02 04 T5 | Guaina guidafilo blu 8 U 6- 1 OmtS - Wire conduit @ 06-10Buemt5 | |

Ee . ~ |o23008 [o RING el -URNE o Sl
' 16. o o2 Ud_J_AL | Guaina guidafilo per allummlu mt. 4 5;_-__ _-__ Liner for Alummluq mb4s; . - ._ Fas s

' (02.04A07 [Gapucorua - Nutforliner for Aluminium ' _[___ 7

s 02, I]_«I_;A_Ls Guama guidaﬂlu per allummm mt, 55 - Liner for Aluminium mt. 5,5 |
FOR OTHER LINERS FOR ALUMINIUM L[]UK AT PAGE 79

17 I‘i”” ”l” ”””“””Hﬂ [02.30.01 | Mollone pustermre :  -Cable suppurt spnng N o

02.30. 02 Manlculto per | mollnne S Cable protector grommet Pt ] ) |

BT T _______f A

02.30.03 | | scatola posteriore A . [ " Connector case | el | |
0230091 lvne per scatola posteriore - Screw T [ =
02.30.04.15 | Ghiera per BZ 15 '  -Nt(forBZ15) - [ ]
LA AL il ¥ R o o R SR T |
R L. TEE. o e T TR
1 TS x oem } =l Al | |
02.30.05 ‘curpn torcia anstemre spinette mnhili - EURD connector - SPRING PINS = _I_ = | ‘
13.30.08 Corpo torcia Saf spinelle mobili : - EURO connector Saf*- SPRING PINS
023008 |O-RING = - 0-RING : B
VAAGYP |Faston femmina cilindrico - Faston female ; |
102.30.06 Dado = - Liner nut o s |
= 13.30.08.1 ) Spmetla maschlo mobile - Spring pm B
OPTIONALS FOR BZ15 |
(020215FC0_|Ugello a FILETTO conico - Theraded conical nozzle. e e 0y
| 02.02.15FCL |Ugello a FILETTO cilindrico - Theraded cylindrical nozzle [ 10 |
[02.02.15FP | Ugello a FILETTO per puntatura - Theraded spot nozzle : 5= 10 |
[ 02.06.15F TLam:Ia terminale cnmplela aFILETIO - Complete theraded swanneck | | 3 [
}»0:_2__.06.15FN Lancia terminale nuda a FILETTO - Complete lhe__raded conductor tube : |
S = S B = R =
SaiEtio T g k. | e |




	036
	037

